CSE 326 Reading Quiz

Name: ______________________ Score: ____

Wednesday 6/21/00

1. What are the Big Three that Weiss talks about?  Circle one choice.


a. UW, WSU, UO


b. Los Angeles, Indiana, Chicago


c. Pointers, references, and vectors


d. destructor, copy constructor, and operator =

Suppose you see this line (ie, this exact line of text): 

template <class Object>

in a good C++ program.

2.  What is Object?  Circle one:



a variable

a type



a reserved word



a function



a mistake

3. What can (directly) follow such a line? Circle all that might apply:



the definition of a function



the definition of a class

For discussion only (not graded):

In the context of templates, something referred to as "code bloat" might occur.  Explain whether either of the following statements is true or false:


a. Code bloat cannot happen if there is only one function template defined in the program


b. Code bloat happens because every single time a templated function is called, additional code is generated.

Here's the start of a method from the class Employee.  Explain what the effect of each of the two const keyswords is:

        bool operator < (const Employee & rhs) const ...


4. 1st const.



5. 2nd const
6. Which of the following is not one of the four defined symbols in the discussion of algorithm analysis:


O(f(n))


((f(n))


((f(n))


o(f(n))


z(f(n))

7. Which function grows faster, N or log N?

